Change in Length-Time Plots

(A) Segment 1: (B) Segment 2: (C) Segment 3:
Insertion-Clamp Insertion-Marker 1 Marker 1-Marker 2
AL1 AL2 AL3
3 T 12 T 0.8 T
0.7
251 q 1r
06
2+ 4 08
f— — — 05
E E E
-E- 15 -E- 06 -E- 04
- - |
< < <3
1r ] 04
02
05+ 4 0.2
0.1
0 ‘ : : : : 0 : : : : : 0 : : : : :
0 0.1 0.2 0.3 0.4 0.5 0.6 0 0.1 0.2 0.3 0.4 0.5 0.6 0 0.1 0.2 0.3 04 0.5
Time [s] Time [s] Time [s]
(D) Segment 4: (E) Segment 5: (F) Segment 6:
Marker 2-Marker 3 Marker 3-Marker 4 Marker 4-Clamp
AL4 ALS ALG6
0.05 T 0.8 T 0.25 T
0.7
06
—_— — 05
S £
-E- 'E' 04
- -
4 h q 0.3
02r
01
- : : : : : 0 : : : : : -0.25 : : : : :
0 0.1 0.2 0.3 0.4 0.5 0.6 0 0.1 0.2 0.3 0.4 0.5 0.6 0 0.1 0.2 0.3 0.4 0.5

Time [s] Time [s] Time [s]



